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Note: All questions are compulsory. Skip syntax exror if there any.
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a. N items are stored in a sorted doubly linked list. For a delete 0p§£§t;g@ ajfointer

is provided to the record to be deleted. For a decrease-key q; %%:atl %%a pomter is
provided to the record on which the operation is to be g’én ng?eg An algorithm
performs the following operations on the list in thl% oi’qle/t’ ’@(ﬁ) delete, O(log N)
insert, O(log N) find, and @(N) decrease-key. Whaf’f»?ﬂelf‘oe the time complex1ty
of all these operatmns if put together. Expl%%@g}»zgason

b. Express the formula (1 - 2)*(n - 4) u&%&gﬁg) gptatlon

c. Entries in a stack are “ordered”. Exﬁ@p ﬁiﬁ: lﬁeamng of this statement?

d. What is the value of the postfix @ﬁg@% on 6324+—%

e. Write condition(s) when a§N o%aaiﬁaeue and a Circular queue gets overﬂow

A function f defined on stack§ (%aag?eg%s satisfies the following properties:

f(d) = 0 and ¢ %%é; ”

. f(push(S, i) = max(f(S?’qQ) ’ﬁ; jor all stacks S and integers i.

3)

If a stack S con%qm% mtegers 2,-3,2,-1,21in order from bottom to top,
»

what is {8)?2 %@% " ' [3]
Given s%;r f@ffked list, write a function to find the last element from the beginning

whosg, % - "0, where n is the number of elements in the list and & is an integer
%h;f’%or example, if 7 = 19 and &k = 3 then we should return 18" node. [3]
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ife a C Program to identify whether the String is Palindrome or not

“ging Queue. ‘ 4]

)ff Construct the binary search tree from the following given keys:

[17,5,20,67,50, 72,19,35,40,1,23,58]
Calculate the height of this binary tree. Identify the various leaf nodes, and ancestor
nodes. [5]

6) Convert the following given Infix expression to Postfix expression using Stack:

A+ (B*C-(D/E“F)*Gy*H | (5]



